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COMPROMISO	
  DE	
  HONOR	
  
	
  

Yo,	
   ________________________________________________,	
   al	
   firmar	
   este	
   compromiso,	
   reconozco	
   que	
   el	
   presente	
   examen	
   está	
  
diseñado	
   para	
   ser	
   resuelto	
   de	
   manera	
   individual,	
   que	
   puedo	
   usar	
   una	
   calculadora	
   ordinaria	
   para	
   cálculos	
   aritméticos,	
   un	
   lápiz	
   o	
  
esferográfico;	
   que	
   solo	
   puedo	
   comunicarme	
   con	
   la	
   persona	
   responsable	
   de	
   la	
   recepción	
   del	
   examen;	
   y,	
   cualquier	
   instrumento	
   de	
  
comunicación	
   que	
   hubiere	
   traído,	
   debo	
   apagarlo	
   y	
   depositarlo	
   en	
   la	
   parte	
   anterior	
   del	
   aula,	
   junto	
   con	
   algún	
   otro	
   material	
   que	
   se	
  
encuentre	
  acompañándolo.	
  No	
  debo	
  además,	
  consultar	
  libros,	
  notas,	
  ni	
  apuntes	
  adicionales	
  a	
  las	
  que	
  se	
  entreguen	
  en	
  esta	
  evaluación.	
  Los	
  
temas	
  debo	
  desarrollarlos	
  de	
  manera	
  ordenada.	
  	
  
Firmo	
  al	
  pie	
  del	
  presente	
  compromiso,	
  como	
  constancia	
  de	
  haber	
  leído	
  y	
  aceptar	
  la	
  declaración	
  anterior.	
  
	
  

________________________________________	
  
Firma	
  

	
  

	
  

	
  
Tema	
  No.	
  1	
   (20	
  PUNTOS)	
  Un	
   ladrón	
   irrumpe	
  en	
  una	
   joyería,	
   con	
   la	
   limitante	
  que	
  puede	
   llevar	
  un	
  
máximo	
  de	
  10	
  libras	
  en	
  su	
  bolso,	
  las	
  cuales	
  pueden	
  ser	
  seleccionadas	
  de	
  la	
  siguiente	
  manera:	
  

• 20	
  fundas	
  de	
  1	
  libra	
  de	
  cobre	
  en	
  polvo	
  c/u,	
  a	
  $40	
  la	
  libra.	
  
• 8	
  fundas	
  de	
  1	
  libra	
  de	
  plata	
  en	
  polvo	
  c/u,	
  a	
  $190	
  la	
  libra.	
  
• 6	
  fundas	
  de	
  1	
  libra	
  de	
  oro	
  en	
  polvo	
  c/u,	
  a	
  $390	
  la	
  libra.	
  
• 4	
  fundas	
  de	
  1	
  libra	
  de	
  platino	
  en	
  polvo	
  c/u,	
  a	
  $410	
  la	
  libra.	
  
	
  

a) (3	
  PUNTOS)	
  Modelice	
  matemáticamente	
  el	
  problema	
  de	
  optimización	
  combinatoria	
  en	
  el	
  cual	
  el	
  
ladrón	
  pueda	
  llevar	
  en	
  su	
  bolso	
  la	
  cantidad	
  de	
  fundas	
  que	
  le	
  generen	
  el	
  mayor	
  valor	
  posible	
  en	
  
dinero,	
  pero	
  sin	
  sobrepasar	
  las	
  10	
  libras.	
  

b) (1	
  PUNTO)	
  Por	
  la	
  rapidez	
  del	
  robo,	
  suponga	
  que	
  él	
  decide	
  llevar	
  3	
  tipos	
  de	
  fundas:	
  5	
  fundas	
  de	
  1	
  
libra	
  de	
  cobre	
  en	
  polvo,	
  3	
   fundas	
  de	
  1	
   libra	
  de	
  oro	
  en	
  polvo	
  y	
  2	
  fundas	
  de	
  1	
   libra	
  de	
  plata	
  en	
  
polvo.	
  Especifique	
  el	
  valor	
  de	
  dinero	
  que	
  él	
  obtendría	
  con	
  esta	
  decisión.	
  

c) (16	
  PUNTOS)	
  Al	
  llegar	
  a	
  su	
  casa,	
  su	
  hermano	
  le	
  sugiere	
  que	
  debió	
  usar	
  una	
  exploración	
  local	
  tipo	
  
SWAP	
   a	
   la	
   decisión	
   tomada.	
   Y	
   que	
   para	
   esto	
   debió	
   transformar	
   cada	
   cantidad	
   de	
   fundas	
  
elegidas	
   al	
   sistema	
   de	
   numeración	
   binario	
   con	
   el	
   uso	
   de	
   4	
   dígitos.	
   Considerando	
   todas	
   las	
  
posibles	
   combinaciones	
  posibles	
   que	
   se	
   logren,	
   elabore	
  una	
   tabla	
   que	
   tenga	
  por	
   lo	
  menos	
   el	
  
formato	
  adjunto,	
  en	
  donde	
  se	
  calculen	
  los	
  valores	
  y	
  las	
  factibilidades	
  de	
  cada	
  combinación:	
  
	
  

Funda	
  Tipo	
  1	
   Funda	
  Tipo	
  2	
   Funda	
  Tipo	
  3	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
  
Tema	
   No.	
   2	
   (30	
   PUNTOS)	
   Para	
   hacer	
   proyectos	
   de	
  
investigación	
   se	
   dispone	
   de	
   ocho	
   expertos	
   en	
  
diferentes	
   disciplinas	
   y	
   se	
   necesita	
   distribuirlos	
   en	
  
grupos	
   que	
   no	
   excedan	
   la	
   cantidad	
   de	
   dos	
  
investigadores.	
  
	
  
En	
   la	
   siguiente	
   matriz	
   se	
   especifican	
   los	
   costos	
   de	
  
realizar	
  estas	
  agrupaciones:	
  

	
  

	
   A	
   B	
   C	
   D	
   E	
   F	
   G	
   H	
  
A	
   15	
   10	
   7	
   55	
   150	
   36	
   5	
   110	
  
B	
   	
   11	
   6	
   70	
   85	
   48	
   6	
   102	
  
C	
   	
   	
   14	
   20	
   44	
   59	
   8	
   130	
  
D	
   	
   	
   	
   23	
   38	
   61	
   9	
   83	
  
E	
   	
   	
   	
   	
   72	
   78	
   16	
   21	
  
F	
   	
   	
   	
   	
   	
   87	
   27	
   46	
  
G	
   	
   	
   	
   	
   	
   	
   93	
   62	
  
H	
   	
   	
   	
   	
   	
   	
   	
   67	
  

	
  
	
  

Examen:    _____ 

Lecciones:  _____ 

Talleres:    _____ 

Prácticas:   _____ 

TOTAL:      _____ 



	
  
a) (5	
   PUNTOS)	
   Especifique,	
   con	
   sus	
   propias	
   palabras,	
   el	
   tipo	
   de	
   problema	
   de	
   optimización	
  

combinatoria	
   que	
   se	
   desea	
   resolver.	
   Argumente	
   su	
   respuesta	
   hacienda	
   la	
   analogía	
   que	
  
corresponda.	
  

b) (5	
  PUNTOS)	
  Modelice	
  matemáticamente	
  el	
  problema	
  de	
  optimización	
  combinatoria	
  que	
  usted	
  
definió	
  en	
  el	
  literal	
  anterior.	
  

c) (10	
  PUNTOS)	
  Plantee	
  una	
  heurística	
  para	
  resolver	
  este	
  problema	
  y	
  aplíquela	
  para	
  encontar	
  una	
  
solución	
  factible.	
  

d) (10	
  PUNTOS)	
  Suponga	
  que	
  todos	
  los	
  grupos	
  se	
  organizan	
  con	
  dos	
  expertos	
  y	
  que	
  se	
  tienen	
  las	
  
siguientes	
  parejas	
  (A	
  –	
  G,	
  B	
  –	
  E,	
  C	
  –	
  D,	
  F	
  –	
  H).	
  Utilizando	
  una	
  técnica	
  2-­‐OPT,	
  obtenga	
  todas	
  las	
  
posibles	
  soluciones	
  nuevas	
  e	
  interprete	
  los	
  resultados.	
  

	
  
Tema	
   No.	
   3	
   (20	
   PUNTOS)	
   Un	
   chofer	
   debe	
   recorrer	
   seis	
   locales	
   distribuidos	
   en	
   cierta	
   ciudad.	
   La	
  
matriz	
  asimétrica	
  de	
  distancias	
  es	
  la	
  siguiente:	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  

a) (10	
  PUNTOS)	
  Aplique	
  paso	
  a	
  paso	
   la	
  heurística	
  de	
  CADENA	
  SIN	
  SUBCICLOS	
  para	
   resolver	
  este	
  
problema.	
  

b) (10	
  PUNTOS)	
  Aplique	
  la	
  técnica	
  del	
  SUBVIAJE	
  INVERSO	
  a	
  la	
  solución	
  anterior	
  con	
  intercambio	
  de	
  
dos	
  locales	
  y	
  encuentre	
  las	
  nuevas	
  soluciones	
  con	
  sus	
  respectivos	
  costos.	
  Luego	
  de	
  ello,	
  utilice	
  
otra	
  vez	
  SUBVIAJE	
  INVERSO	
  pero	
  ahora	
  con	
  tres	
  locales	
  y	
  encuentre	
  las	
  nuevas	
  soluciones	
  con	
  
sus	
  respectivos	
  costos.	
  

	
  
Tema	
  No.	
  4	
  (30	
  PUNTOS)	
  Suponga	
  un	
  tablero	
  de	
  ajedrez	
  de	
  dimensión	
  8x8,	
  para	
  el	
  cual	
  se	
  tienen	
  las	
  
siguientes	
  permutaciones	
  (2	
  padres):	
  

	
  
σ(1)	
  =	
  3,	
  σ(2)	
  =	
  2,	
  σ(3)	
  =	
  1,	
  σ(4)	
  =	
  6,	
  σ(5)	
  =	
  4,	
  σ(6)	
  =	
  8,	
  σ(7)	
  =	
  7,	
  σ(8)	
  =	
  5	
  
σ(1)	
  =	
  4,	
  σ(2)	
  =	
  8,	
  σ(3)	
  =	
  3,	
  σ(4)	
  =	
  1,	
  σ(5)	
  =	
  5,	
  σ(6)	
  =	
  6,	
  σ(7)	
  =	
  7,	
  σ(8)	
  =	
  2	
  

	
  
	
  
	
  
	
  
	
  
	
  

a) (6	
  PUNTOS)	
  DIBUJE	
  el	
  tablero	
  e	
  identifique	
  la	
  cantidad	
  de	
  COLISIONES	
  entre	
  las	
  8	
  reinas	
  para	
  cada	
  
permutación	
  (padre).	
  

b) (24	
   PUNTOS)	
   Considere	
   la	
   aplicación	
   del	
   ALGORITMO	
   GENÉTICO	
   “PARTIALLY-­‐MATCHED	
   CROSSOVER	
  
(PMX)”	
  para	
  solucionar	
  el	
  PROBLEMA	
  DE	
  LAS	
  N-­‐REINAS	
  (considere	
  N=8)	
  y	
  proporcione	
  soluciones	
  con	
  
el	
   uso	
   de	
   esta	
   metaheurística.	
   La	
   subcadena	
   para	
   cada	
   par	
   de	
   nuevos	
   hijos	
   en	
   la	
   siguiente	
  
generación	
  debe	
  incluir	
  tres	
  reinas	
  	
  de	
  uno	
  de	
  sus	
  padres	
  y	
  la	
  cantidad	
  de	
  iteraciones	
  debe	
  ser	
  
cuatro	
   en	
   total.	
   Especifique	
   la	
   cantidad	
   de	
   colisiones	
   en	
   cada	
   caso	
   y	
   si	
   resolvió	
   o	
   no	
   el	
  
problema.	
  

	
  

	
   1	
   2	
   3	
   4	
   5	
   6	
  
1	
   –	
   19	
   27	
   35	
   14	
   23	
  
2	
   17	
   –	
   26	
   10	
   32	
   18	
  
3	
   24	
   22	
   –	
   54	
   12	
   20	
  
4	
   33	
   8	
   56	
   –	
   28	
   36	
  
5	
   11	
   29	
   18	
   26	
   –	
   38	
  
6	
   21	
   16	
   25	
   31	
   39	
   –	
  


